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Questions

The MS-Excel formula beings with.

Which of the following is a correct cell address.

Calling a cell n MS. Excel by just their addresses is called.

In Spreed -Sheet, by default rows are labeled by.

The actual working area is Microsoft Excel is.

A work book is a collection of.

The vertical dimension of spreed sheet is called

How many worksheet are contained is a workbook by default.

Which of the following is correct column address.

The number of argument in SQRT( ) function is MS-Excel

The cell range from A3 to G3 should be written as.

Which of the following is an absolute address.

A word book is a group of.

The function in MS-Excel is used to get the smallest value is called.

The default number format assigned to a call is.
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AA
25
3B
C5

Named range
Labeling

Relative refreshing
Absolute refreshing

Letters

Special symbols
Numbers
Underscore sign

Workbook
Work sheet
Lotus -123
Database

Formula
Functions
Tables
Sheets

Record
Column
Row
Field

oo w

AA
25
38
CS

One

Two

Equal or range
Equal to column

A3-G3
A3:G3
A3:G3'
A3.G3

$AI
Al
A3l
$ASI

Table
Formulas
Sheets
Functions

Max

Min
a and b both
Smallest

Text
Number
Currency
General






